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JUNE 2010.

Second Year
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BUSINESS STATISTICS

Time : 3 hours Maximum marks : 75
SECTION A — (3 x 5 = 15 marks)
Answer any THREE questions.

1. Explain any two types of diagram to represent the
data.

Yerefludwe edletdsiiuLmigeflen Qe elamssamer

cMlemd@a.

2. State the functions of statistics.

yeraflufweder QewieoLim(heEeneT gamis.



Explain seasonal variation and cyclical variation.
Li(heusmed ormum(hiser wHmib & wrmurhser bl

cMlemd@s.

Calculate harmonic mean from the following data :

Marks : 5 10 15 20 25
f: 4 14 26 10 6

Epsaam Larafleleurmisaiielmpbg Qanss grmafenwis

SaTES (h .
W LIGQLERTSET : 5 10 15 20 25
SO GueHT : 4 14 26 10 6

Find out rank correlation from the following
data :

Epsasam_  efeurmseallambg  eflos  Qenumay

Q&P HTEHTS.
w

A 2 3 1 4 5 6 7 8
B 8 7 4 3 2 1 6 5
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SECTION B — (4 x 15 = 60 marks)
Answer any FOUR questions.

Explain in detail the various sources of primary
data.

s Hlevew eleurmsamer GumeugHaTear LiGaim
auflsenar afleTsEs.

Write short notes on :

(a) Index number

(b) Mean deviation

(¢) Lorenze curve

S @OLY euenys.

(<) GHSLQ ereim

(<) gpmafl ellewssbd

(@) emTemen cUEETE.

Find mean, median and mode

Marks: 0-10 10-20 20-30 30-40 40-50
f: 3 17 27 10 9
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10.

Epsaea elurhseai ol mbg srmaf, @eaLBleane wHmLD
P50 saHHHs.
wHiCuearser : 0-10 10-20 20-30 30-40 40-50

S1enev Gl 6L et : 3 17 27 10 9

Find the standard deviation from the following
data :

x: 0-10 10-20 20-30 30-40 40-50 50-60

f: 4 7 15 8 7 2
Epsaam ellugrisealedmbhg S L elwssd saumss(Hs.

x: 0-10 10-20 20-30 30-40 40-50 50-60

f: 4 7 15 8 7 2

From the following data construct Laspeyre’s,
Paasche’s and Fishers index numbers.

Commodity Base year Current year
Price Value Price Value
6 60 7 91
8 96 11 99
11 99 13 117
5 30 6 42
9 72 9 81

H O Q @© >
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11.

Gemeumpd Lemel elleurmiseiadlmbg ewmevdlwm, Limevél
wHnd Gegriler GHuILCLamrsamer saurss (Hs.
&G Slgliuep  Blapeomer(
< ()
cllened LI efleney LI

A 6 60 7 91
B 8 96 11 99
C 11 99 13 117
D 5 30 6 42
E 9 72 9 81

You are given below the following information
about advertising and sales :

Adv. Exp X) Sales (Y)

Rs. Lakhs  Rs. Lakhs
Mean 10 100
S.D 3 15

Correlation coefficient = 0.85
(a) Obtain the two regression lines.

(b) Find the likely sales when advertisement
expenses is Rs. 15 lakhs.
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&CGp  Gsr@ssiul@drar  eleupmser  eflaTbLpF
Geveillenaryb edlpHLenerenwwd LHHlwg).
erbuné Aeewe] (X)  elbuener (Y)
(@ oLo580) () oL s5Hd)
. (h& gyme 10 100
L ellwdsid 3 15
o e Qg Qe = 0.85.
(=) @rawr(h  Casriiy  Gurég — swerum(haemer
STl
(<) eflembups Gswe] @5 15 olsd eafd

el puenearuien ojereneu HUILEH ClFiis.

12. Calculate 5 yearly moving average from the
following data :

Year No. of failures

1959 23
1960 26
1961 28
1962 32
1963 20
1964 12
1965 12
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Year No. of failures

1966 10
1967 9
1968 13
1969 11
1970 14
1971 12
1972
1973
1974

&G Qar(hssliul_(Herer eflugmgaien 5 euHL BS(HLD
Fymafenw Haurdd (Hs.

@) Cgirss)

Quprseuisertier
TRl Gam
1959 23
1960 26
1961 28
1962 32
1963 20
1964 12
1965 12
1966 10
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<@ Cairird]

Quprseuisertier
cranTemflEens

1967 9
1968 13
1969 11
1970 14
1971 12
1972

1973

1974
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